Catalytic Degradation of Chlorophenols with Goethite in the presence
of Hydrogen Peroxide
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highest at pH=2~3 .Goethite can be
(Goethite;a-FeOOH) dissolved to produce ferrous ions and the

2. dissolution reaction is shown as follows
a- FeOOH +1/ 2H,0, +2H" ® Fe** +1/ 20, +2H,0
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Abstract
Catalytic degradation of chlorophenols
has been investigated in the a-FeOOH/H,0,
process . There are two partsin this research .
First , controlling factors ,such as goethite )
particle size and pH were investigated. )
Finally, the reaction mechanism was also ~ 1-Goethite _
proposed. The results are shown as Goethite
follows  Effect of goethite particle size 1
on the 2- chlorophenol oxidation is very  2-
significant ; the smaller goethite particle 2-CP

size , the faster 2- chlorophenol oxidation .
The rate of 2-chlorophenol oxidation is
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